Revision — Grade 6 — Math —Exam 2 — Term 3 — 2019/2020

1. Find the surface area of the pyramid.

I'.rd__,_. 9 in.
4in.
4in.
A.O 72 in?
B. O 88 in?
C. O 70 in?
D. O 106 in?

2. Find the total su

£ - aroa nF Hhin Friame | =% iyt
race area of the triangular pyramia.

A. 03160 m? :
B. D 144 m?
.0 16 m?
p. O 24 m?

3. Find the valume of the

composite figure.

A . 82m?

B.D 71 m?
C. 79m?

D.J 75 m3

4. Find the surface area of

the composite figure. ? NN
%
{9 faces) S :
: : i o
20 cm i
5 18 cm
A. 3 2000 m? 1
B. O 3000 m2 A P
30 cm

C. ) 4000 m?

D. ) 5000 m?

5. Find the mean of {15, 7, 9, 25, 4}.

A .O13
B. 010
C. 012
D.O9

6. Find the median for the data set
2,3.5 7.9 10,12 15

A.OB
B. O 10
cC.O7
D.O9
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7. Find the maode cof the set of data.
24, 25,30, 31, 31, 33, 34, 38,
41,42 44 A8 49 67

A.O867
B. O 31
C.O3
D. O 36

8. Find the mean, median, and mode of
32, 37, 200 26, 42, 35, 26, 34,
respectively.

A.O 34 33

- 26
B.O 32 33 26
C.O 32; 32; 26

D.O 34; 33, 26

P

9. Find the range of the data set
145,612, 120, 349, 515, 212, 590.

A. 0512
B. O 470
C. O 445
D. O 492

10. Find the interquartile range of the data.
68 15 55 5 66 42 51,12 23

A.OC47
B. O 42
C. 063
D. 0605

11. Find all outliars for the data.
20,16,8,12, 6,31, 15,14

A. O ncne

B. 06 and 31
C.OMH
D.O8&

12. Find the mean absolute deviation for
the data in the table.
Round to the nearest tenth if necessary.

Plant Heights {in.}
12 14 15
10 16 17

A.O2
B.O25
C.O18
D.O3

Shaikha Alkaabi - Al Maha School




13. Which measure of central tendency is
most representative of the data?

6,8,3,5 32,6,5, 4,28 2, 2, 2

A. O range
B. U mode
C. O median
D. O mean

14. \Which measure of central tendency is
most representative of the data?
1,3,17,20, 4, 3,16, 1, 2,18

A. U range
B. U mean
C. © median
D. © mode

15. Which measures of central tendency
are representative of the data?

15,10, 13, 20, 152, 18, &, 5, 13

) median and mode
) mean, median , and mode

) mean and median

oo wp

O mean and mode

16. Use the line plot to find the mode.

A.Ob5
B. O 56
C.O10
D. O 50

17. Use the line plot to find the range.

18. Use the line plot to find the median.

X
XX X
XX XXX X
4+
3 10 15
A.O13
B.C115
C.O7
D.C 12
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19. The table shows the heights of U 5. Presigdents.
Which is a histogram of the data?

Heights (in.) | Frequency
63-65 1
£6-68 2
69-71 14
72-74 13
75-77 1
Source: whitehouse gov

Heiglits

of U.5. Presidents

ElEm=d

SMbmh@ARER@

r
Heights (in)

8|

16

14

12

B.O |g%

" oE

4

2

- i

63-65 B6—E8 E9-T71 71-74 T75-77

Froguensy

H:lghti of U.S. Presidents

O
Frequency

0
18
16
14
12
10
8
&
2
2
(1]

6!-65 B6-68 69-T71 72-74 75— T?

Heights {ln.}

Helghts of U.5. Presidents

Bi-BB G8-74 g0

Heights (in

Heights of LS. Presidents

FI-B5 66-6B §9-71 72-74 75-77
Helghts fin

20. Which box-and-whisker plot represents the data?
18, 27,16, 29, 30, 42, 35, 34, 24, 21

T T
16 18 30 2 24 26 28 30 32 34 36 I8 40 42

— —t—
16 18 20 23 2 26 28 30 32 34 36 30 40 47

pO Tt & b

J J
16 18 20 %2 3 26 28 30 37 34 3 M 40 42

21. Find the upper extreme.

22. Find the median.

S S L € & ' E b W oM 17 1% W qx

LB

AO 1 A0
B.C 8

B.O 6 -
C.0 9

C..o 7
D. O

B.O 11 13
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23. Find the range.

£ & r B B W M 13 1i g

A.D S
B.O 6
C.O 7

B.2 11

24, Find the first quartile in the data set.

A1
B.O 3
C.O 4

D. 7

25. Find the interquartile range (IQR).

- !

l l = l l l
20 M 40

A .0 20
B.O 50
C.0 70

D. 2 100

BO 80 100 110 1H 12D

26. If the left side of a distributian looks like
the night side, then the distnibution is

A. O skewed
B. O nomal

C. C symmetric
D. O clustered

27. Which set of data has an outlier?

Weekly Chores ) Mumber of Pets
A.C B.! x
= x
k4 x x
X X x x x
% ¥ X ® x x x
*® *® o n x x x
F1 x x x x
AL ET WEN &N .S
] 1 2 3 4 5 [ a 1 2 3 4
Number
Hours Spent Watching TV
C.()  Sweater Prices ($) D.O X
X
X X X
x x % x
x x X X X x
x x x x 3 x X x
e e e R JMME. . SO S
26 30 35 40 45 B0 G5 60 &5 0 1 2 3 4 5

28. Which statement best describes the shape

of the distribution?

(AR X NN

m

4 5 6

Number of Pets

The shape of the distribution has a cluster on the right.
The shape of the distribution has a cluster on the left.

The shape of the distribution dose not have gaps.

O 6w >

The shape of the distribution is symmetric distribution.
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29. The line graph shows the average daily temperature
far a city. Predict the average temperature in the city

for Saturday:.

Average Daily Temperature
1
W
2
Temperalure 40
(*F) a8
a6

A. ) 37°F Mon.  Tues. Wed. Thur. Fi.  Sab.
Dﬂ]‘

B. O 43°F

C.0 46°F

D. O 0°F

30. The table shows the number of students who vated for
each candidate far class president. Which is an appropriate

type of display to compare the number of votes

for each candidate’?

Candidate | Voles
Becky 42
Crystal 25
Jodi 33
Tosh 58
Mlatt 32

A. O bar graph
B. O histogram
C. O line graph
D. C line plat

the population has changed since 19507

Fort Worth, Texas
Year | Populalion
1930 378,778
1970 393 455
1980 383,164
1990 447 619
2000 341,099
2004 603,337
Rowrce: The Torld dhnanac

A. O line plat

B. O histogram
C. O line graph
D. O bar graph

31. The table shows the population of Fort Warth, Texas.
Which is an appropriate type of display to determine how

Shaikha Alkaabi - Al Maha School




Answers:

1. B 2. A 3. C 4. C 5 C
6. A 7. B 8. B D 10. A
11. C 12. A 13. C 14. B 15. A
16. B 17. A 18. B 19. D 20. B
21. D 22. C 23. C 24. B 25. C
26. C 27. C 28. B 29. A 30. A
31. C
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